## CITY OF NEW BEDFORD

## APPLICATION FOR LAYING DRAIN

Application Nº 19081	Board of Health Permit No.	
	New Bedford, Mass., Oct 3, 1969	
To the Mayor and City Council:  I hereby request that a drain be laid from	n the premises of John G Carreero	
es Lowell St.	80 m of Mungland Lt	
(178		
to connect with the sewer inthe same to be laid in the street and the sur	Land of the street	
the same to be laid in the street and the sur Works.	rface repaired as directed by the Commissioner of Public	
I hereby agree to pay at the office of the the manner specified, in excess of the deposit the work.	e City Treasurer all cost of performing the above work in it made herewith, within 10 days after the completion of	
payment of the cost of performing the work	eposit made with this application shall be applied to the done, and that any excess of deposit over the cost shall	
Witness Codersh	John G. Carrevis  37 Morton Que. n.B.  Address	
	27 Myston Que n B	
k	Address	
. Ву		
Requires separate entrance for roof water	Address	
Consent of C	Owner of Private Drain	
	New Bedford, Mass.,	
To the Mayor and City Council:		
the privilege of draining premises		
through the private drain owned by me con	necting with sewer in	
and grant the provided by the control of	street.	
	Owner	
Estimate and	d Deposit Requirement	
Office of C	Commissioner of Public Works,	
My estimate of the cost of laying the dra	ain described in the above application is	
Assessed Entrance charges	Total deposit required 266.00	
-Entrance Charges	Edmund J. Loomer	
	Commissioner of Public Works Le	
Cert	ificate of Issue	
	Office of City Clerk,	
The above application, accompanied by	City Treasurer's receipt presented this day; whereupon	
Permit No. 19081 was issu	ned, and the Commissioner of Public Works notified of the	
same.	Charles M. Deary City Clerk	
Laid from main in street to iron pipe in property.  Owner agrees to supply all necessary	City Clerk	



## NOTICE TO COMMISSIONER OF PUBLIC WORKS

Length of drain 49	Billed 12/38/69 (E)
0	2 pipe system
Sewer depth	pipe system
Surf. drain	
Drain Permit Nº 19081	City of New Bedford,
	Office of City Clerk, October 3, 1969
To Commissioner of Public Works.	
Permission has this day been issued to	
John J. Carreers.  Property owner	37 Morton Avenue
By same	Address
to lay drain from the premises of	la y Casseiro
es Lowell St. S	Ogn of Maryland Street
to connect with the sewer in	owell street.
Laid from main in street to iron pipe in property.  Owner agrees to supply all necessary	Charles VV. Westry
Liansite pipe.	City Cleyk.

Requires separate entrance for sewage and roof water



## RETURN OF FOREMAN

Entered	NO.U.	18	7 190	19	69
Time	·	1/	2	<u> </u>	
Ву	//	le.	Lau	1	
	COS	ST			
Labor		hours	@		
avares, J.	- 8	"	2.65	\$	21.20
Chibault, J.	- 8	"	2.65		21.20
lfonso, J.	- 8	"	2.50		20.00
Botelho, E.	8	"	2.40		19.20
imbra, J.	** 8	"	2.46	- Constant	19.60
		"		\$10	1.20
		"		- War	
Stock /2 BAG-C	EMENT	- @	1-57		79
200LBS-SAND			090		18
EPLACE-POFTX					
	9+5	-	10.00	13	9.
<u> </u>	1101			13	13
m 1.				-	
Trucking		1	-		Α .
WEST TRUEK	(4	26	10 °C		20
MS#35-BACKI	OF Q	lorl	0	42	70
					-
Total Cost		6		16	0,00
Estimate-cost of	laying dra	in 📈	66-		
Entrance charge					
Total deposit	A .	21	26-		
Balance due	anoi	1		101	(2)
	1-10	PT-	1-757	-4-	-/4/
Pieces pipe to cu	rb /-10	FT-	1-2.69	-6-	-/N
" " curb	to house	SOFT	- 7- 1	T 4	1-1H
Cut at sewer	91	101	T	1-6	-14
Cut at curb				344	
Size of pipe	X4-IN	-T.R.	INSITE	-911	E
Correct			A		. 1
		1	/ //	/	A AND
		1 /	//	11	

ON MER-S OFFIE U- TIPE